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1. Originating caller dials 
long distance (LD) call. 
Example: 1-559-123-4567

2. Call routes to tandem 
telephone switch 

3. Call routes to caller’s 
assigned LD phone company

4. LD Carrier 1 selects the 
carrier with the least cost 
routing (LCR)

5. LD Carrier 2 selects the carrier 
with the least cost routing (LCR)

6. LD Carrier 3 performs an LCR
lookup and routes the call back to 
Carrier 1, unaware they were already
part of the call

7. The LCR lookups start 
all over again and the call
becomes caught in a loop

8. Caller may or may not hear 
a ring back tone. In come cases 
the call never connects, in others,
the call will eventually be 
completed with poor quality

9. If the call never connects, the
called party remains unaware that
they were called, unless notified by 
other means

CALLED PARTY- YOU
1-559-123-4567


